T26_501

!
Nt Multiplication of big

2 . Let’s find the answer of 21 X 3.
‘g. 4 numbers.

-
1) How many sets ofand@dose the number made of.

21 x 3 =]

21 © 21x3 =|
© o WO ©
© OO O/RS ONO

21 consists of The answer is
Zsetsof g 2><3=65etsof

and 1x3=3(2).




“w_n

0” means @, “t” means X.

s N
1) Split 21 into two numbers.
21 X 3 = |
t 0
2 1
21wa (20)9= ]| sarme
—— t” and “o”.
A=
In total J
. — J
4 I
2) Split 23 into two numbers. }
X 3= 6
1o (20)5-(60).
w3,
In total 6
\_ ~—5J @ Good/!/
- /4 ™
21 x 8 =(63) ) o
Both the diagram and the number sentence
calculate by their place values. We can
@ @ @ calculate if we split them into the places.
\S J




“w_n

(0]

means @ , “t” means X.

T26_501

~N

‘ ﬁ Let’s multiply big numbers by vertical method.

21 X3

We write the

numbers align

to the right.

X 3

Start multiplying

from the

“, n

numbers at “o0”.

3x1=(:>€

\-

——
N.-—c—
-_—l | 2

|
i

V8

Multiply the t 0

numbers at “t”. % 1
-

3x 2= J/X .3

A

3, the number at
the bottom is at

0”, so we write it
below the 1 of 21.

SessEe €

Multiply separately
by their places and
add the answers
later.

The number at “0”
means 3 by 3 X1,
so we write 3 at “0”.

1 AN,
ST
4,

Y <

The number at “t”
is 3 X 2=6. So, we
write 6 at “t”.




IIOH means . ) IItII means X . T26_S01

[ N\
Example| Multiply.

21 X3 21 %3
o]
=R e e 2
X -3 X 3
@ 63
Exercise| Multiply. Good/
vi12x2 @213 x3 322 x2
01125 13y (2 2y
Xl\z')@ Xl\3‘>‘@ X\Z@

@23 X3 ®33 X3 ®41X2
|3><2!:\2 3% 3x3 \3 3% 2x4 \4 1
Nadvm) el x N2l




T26_501

Exercise| Multiply.

@12><3 ®21X%X2 @31><3
3x1 1 2\5 2%x2 \2 15 3x3 \3 15

x \8/\om] x N2iNam] x Nad<e)
@11 X6 ™14 X2 @32><3
6 %1 \1 1\5 2x%x1 \1 45 3%x3 \3 25

x N6/er] % N2 o] % N8/Ye)
®21 X4 23><2 @22><4
4%x2 \2 1\5 2%X2 \2 3§ 4x2 \2 25

x N4l x N2 e X N4
033><2 Mm32 X2 044><2
2x3 \3 3\5 2x3 \3 25 2x4 \4 43

x N2 /Nea) % N2dam] X N2/




“6” means . ) “t” means X . T26_S01

4 )

Example | Multiply.
21 X3 21 X3
t 0 t 0
21 5 2 1
X 3 X 3 .
g3
Good/
Exercise| Multiply.
@ 12X4 @31X%X2 @22 X3 @43 X 2
12 31 2.2 4:3

X i4 X: 2 X 3 Xi 2

® 42Xx2 ® 34%x2 @13%X2 ®24 X2

4 2 34 1:3 24
X: 2 Xi 2 Xi 2 Xi 2




“6” means . ) “t” means X . T26_S01

Example| Multiply. Do not forget to write “ X ”.

N

.

21 X3 21X%X3

t 0 t 0 =

( -~ [ 24

Do not X 3 (@
forget! \ 6 3 Good)

I

./

Exercise | Multiply. Do not forget to write “ X",

®13 X3 @12X4 @22 X3 @ 32X%X2
[ t]o] [t ]o | [ t]o] (
13 12 22 32

X 3 x 4 X D X 2

.

®24 X2 ® 31 X3 @11X5 ®43 X2

X

24 34 14 L3

2 |x 3 |x 5 |x 2




o _n

0” means @ , “t” means X “h means Q. 26-392

~
ﬁ Let’s multiply big numbers by vertical multiplication
]
26 X 3 Multiplication at
o | n | ¢ | o | “0”is3X6=18,
Start multiplying .
2 6 so we write 8 at
from the ) u ” and 1 at utn
numbers at “0” X 3 Write the 1 small.

Multiply the L h |
numbers at “t”. 2
Y X R Multiplication at “t” is
@ — 3X2=6, sowe add 6
&, 1 8 to the 1 which we

write small.
Add the [ n ]
numbers at “t”.

t
After you add \$\

Write 7 at “t” because
8 there are6+1=7

sets of ‘ at “t”.

cross out the
small number.

If we write separately
by places, we can find
out the answers are
18+60.




“0” means @ , “t” means X.

T26_502

Example

X

|3><2!:

Multiply.

26 X

[t o]

2 6 —
M\_3‘ = CXLM\

206 X 3
[t 1 o]

2

6
-3

Do not
forget to \&
add'

7

yZ

5

'//A:'

N

C

X Good/ )
Exercise | Multiply.
D15 X2 @15X%X3 @14 X4
2x%1 \1 5\5 3x1 \1 5\5 4 %1 \1 4§
x N 2/\ers] x N8Nen] X N4l
@12 X6 ®13 X7 ®28 X2
T o] ESEN [t10]
6 %1 :I 2\5 7 %1 \1 3\5 2%x2 \2 85
x N6/Yorz] X N7/N] X N2/




T26_502

Exercise | Multiply.

@28><3 ®37 X2 @12X5
3x2 2 8\5 2x3 \3 75 5x1 \1 2\5

x N8/Nem] % N2/Nem] X N5/
014><3 13 X4 @19)(4
3x1 \1 4\5 4x1 \1 35 4x1 \1 9\5

X Na/er] x Nar ] x Nade
@13)(6 27><2 @29)(2
6x1 \1 3\3 2x2 \2 7§ |2x2!\2 95

x N6/Nors] X N2/Nem] X N2/
036><2 @47 X2 ®17 X5
2x3 \3 6\5 2x4 \4- 75 5x1 \1 75

x N2 New] % N2/ em] % NE/Ne)




“0” means @, “t” means X.

T26_502

~N

Example| Multiply.

26 X 3 26 X 3
T 0
2 6
x 3 Do not
forget to
add!
Exercise | Multiply.
® 16X2 @19X3 @15%X4 @14 X6
| t] o] | t]o] | t] o] | t]o]
16 19 1:5 14
X 2 X 3 X 4 X 6
® 26X 2 ® 24 X3 @35 X2 ®38 X2
[ t]o]
2.6 24 35 3:8
X: 2 X 3 X 2 X 2




Exercise

Multiply.

T26_502

@17 X2 @13 X5 @19 X3 @16 X4
[t [o | [ t]o] [t [o | [t [o |
1:7 1:3 19 16

X 2 X 5 X 3 X 4

®15X6 14 X7 ®25 X3 ®24 X 4
[t [o | [t [o] [t [o | [ t[o]
15 14 25 24

X 6 X 7 X 3 X 4

@39 X2 ® 16 X5 ®48 X 2 @19X5
39 16 48 19

X 2 X 5 X 2 X 5




“6” means . ) “t” means X . T26_S02

4 )

Example| Multiply. Do not forget to write “ X ”.

26 X 3 26 X 3

t o t 0 =

2
R LC
\ ] L 7 8 ) Good

. J

Exercise | Multiply. Do not forget to write “ X”,

®18X%X2 @17 X3 ®@18%x4 @ 16X6

( ( 4 4

. \. \. \.

®12X8 ® 27X3 ©@23X%X4 ®45 X2

e s e s




T26_502

Exercise | Multiply. Do not forget to write “ X”,

@14 X5 @19 X2 ®18 X3 @ 17 X4

f ( ( 4

®12X7 @ 25X2 ®26X3 ®46 X 2

f 4 ( 4

®29 X 3 ® 15X5 ®49X2 @18X5




o _n

0” means @, “t” means X “h means O.
N\

Let’s calculate this.

32 X4

Start multiplying Lhlt [ o :|

from the 3

numbers at “0”. x

The multiplication

ow_n

at “0” is 4 X 2=8§,
so we write 8 at “0”.

Multiply the | h [+ [ o |
numbers at “t”. 3 2
[x2=00r %

The multiplication at “t”
is4X3=12, so we write
2 at “t” and 1 at “h”.

32 If we write separately
x g by places, we can find
X 120 out the answer is

128 made of 8+120.




“0” means @ , “t” means X “h means Q. 726593

.

Example

Multiply.

32

t

X 4

4x3

X

—_—

3

2
s

32X%X4

N

h t o

Exercise |Multiply.
®21 X5 @31X%X8 @43 X3
5X-Ej\\2 1\5 8xi\\3 1\) 3><-i/\\4 3§

x N6/em] X N8MNw] X N8/
@54 x 2 ®41 X7 ®61X6
|2xij\l \5 4\5 l7xi/\l \4 1\ |6x-6_/\l \6 1




T26_503

Exercise | Multiply.

@21 X8 ®31 X7 @42 X4
@\2 1\5 7x1\3 1\5 @\4 23
x N8/ or) X N7 X N4
M53 X3 o644 X2 @72X3
Ealg 3y a4y (7 2
X N8/ om) (X N2 Nzm) (X N8/Gr)
B2 X4 @81 X7 O3 X2
@\5 2\5 7x-ij\ \8 1\5 @\9 35
X NaNae) XINTIN) (XN 2/
71 X5 M83 X3 91 X6
@\7 1\5 3x-8_1\\8 3\5 @\9 15
X N6/ er) X N8N a) X N6/ex)




“0” means @ , “t” means X “h means Q. 726593

N

.

Example | Multiply.
32 X4 32 X4
32 3 2 (@
X 4 = X 4 Good
128

21 X

Exercise | Multiply.

6 @31x%x4 ®@41X5 @51X3

2
X

1 31 41 51
6 X 4. x: B xi 3

®61X8 ®72%X2 @81X7 ®93 X2

6
X

1 7 2 8 1 9 3
g x 2 X 7 X 2




“w_n

0” means @, “t” means X.

T26_503

Example | Multiply. Do not forget to write “ X”.

32X%X4

32X%X4

N

(o] o /;9
=
52105
X Zl- Good/
128
Exercise | Multiply. Do not forget to write “ X”.
®21%x7 @31X5 @41 X3
h t 0 | h t 0 h t 0
@51 X2 ®©62 X4 ®71X6




T26_503

Exercise | Multiply. Do not forget to write “ X”.
@21X9 ®31X8 ©42 X3
h t 0 | h t h t | o
82 X2 92 X 3 @52 X4
h| ¢ | o | | t h | t | o
®B3 X2 @73 X3 ®91 X5




o _n

0” means @, “t” means X “h means O.
\

— Let’s calculate this.

54 X 3 The multiplication at “0”

is3X4=12, so we write

from the

numbers

Start multiplying Ln [ e |

2 at “0” and write small

“, n

at “o”.

Multiply the
numbers at “t”.

h | | o | |[The multiplication at “t” is

1

t
5 4 3 X5=15. We add the small
\" 3 1to 15, soitis 16. So we

\é\ 2 write 6 at “t” and 1 at “h”.

If we write separately by
places, we can find out the

answer is made of 12+ 150.




o _n

0” means @, “t” means X “h means O.
\

| Let’s calculate this.
<

3 6 X 9 The multiplication at “0”

is 9 X 6=54, so we write

Start multiplying L]t | o |

4 at “o0” and write small
from the

“, n

numbers at “0”.

Multiply the | The multiplication at “t” is
numbers at “t”.

9x3

9 X 3=27. We add the small

5to 27,s0itis 32. So we

write 2 at “t” and 3 at “h”.

If we write separately
by places, we can find

out the answer is

made of 54+ 270.




“0” means @ , “t” means X “h means Q. 726-504
Ve N\

Example | Multiply.

36 X9 36 X9

3 6 3

9><3 -
X \.94

.

Exercise | Multiply.

®16 X8 @19X6 ®28 X6
8% 1 6‘~ 6 %1 9\‘ 6x%x2 8

:
< Nad o) x

/ﬁ_x

o

< 5 )
AW

(o))




T26_S04

Exercise | Multiply.

@36 X7 ®45 %7 ©@54 %9
[hit o] [hit o] [hit o]

7x:3 3 6\‘ 7x:4 4 5\‘ 9x5 5 4
Cy\ﬂ‘m < A7) Ao

45 X 3 MB59 X9 @07 X2
|3x-ij\l \4 5\5 ngi,\l \5 9\5 lzxél\l \6 75
X N8/ oms) X NONome) (X[ N2/<)
B8 X6 78 X5 87 X4
l6xé,\l \6 8\5 SX-L\\7 8\5 I4X.i/\l \8 75
x N6/ o) X[ N5/ o) X[ Na
® 85 X6 D79 X4 ®O95 X 2
IIIHI l!ﬂml IIHHI
|6x-8_j\l \8 5\5 4x-7_j\\7 9\5 |2x-9_l\l \9 55
x Mo/ o) [} Nalam) [} N2d o)




“0” means @, “t” means X “h means O.

4 )

Example | Multiply.

360X9 3060 X9
36 = 36
x 9 Do not /‘CjOOd/!
e

. J

Exercise | Multiply.

®22X6 @16X7 ®27%X8 @®35%x4
[h it io] [hitio] [hit o] [hitio]

22 16 2.7 35
X 6 X i7 Xi 8 Xi 4

®35X6 ®45%X6 ©@48x7 ©®54X3
[hi o] [hitio] [hit o] [hit o]

35 4.5 4 8 5i4
Xi 6 X iB X i7 X: i3




Exercise

Multiply.

T26_S04

@25 X7 32 X8 ™35 X5 @43 X 4
25 32 4:3
X 7 X 8 X 4
® 59 X7 @62 X8 ® 65 X2 ® 69 X6
59 6 2 6.5 6 9
X 7 X 8 X 2 X 6
@72X5 ® 78 X4 ®77X9 @ 73 X7
72 78 77 73
X 5 X i4 X 9 X 7
@83 X4 @ 86 X6 ® 89 X8 @ 96 X 2
8:3 86 89 9:6
X 4 X 6 X 8 X 2




“0” means @ , “t” means X “h means Q. 126504
4 N\

Example | Multiply. Do not forget to write “ X”.

36 X9 36X%X9

o o

=

X
o)

X

6
N Good/
A

@

Ndl W

Exercise l Multiply. Do not forget to write “ X”.
®19X8 @23 X7 @24 X9
h t 0 | h t 0 h t 0
@32 X6 ®48 X 3 ®37 X6




lD@mMe Multiply. Do not forget to write “ X ”.

T26_S04

@46 X9 ®957 X5 @66 X7

h| t | o | h | ¢ h | ¢ | o
@58 X9 64 X8 @®795X%X9

h t 0 | h t h t

®78X%X8

®82 X6

®97 X2




o _n

0” means @ , “t” means X “h means Q.[ 2630
\

— Let’s calculate this.

59 X6 The multiplication at “0”

is 6 X9=54, so we write

Start multiplying

4 at “0” and write small
from the

“, n

numbers at “o0”.

o

[ Multiply the ] [h |t The multiplication at “t” is
numbers at “t”. 5 9 6 X 5=30. We add the small
=\
6x5=30 ¥ ~0 5 to 30, so it is 35. So we
5 N Z‘_ write 5 at “t” and 3 at “h”.

5
=0

If we write separately

by places, we can find

out the answer is

made of 54+ 300. : )




o _n

0” means @, “t” means X “h means O.
\

— Let’s calculate this.

8 4 X 6 The multiplication at “0”

is 6 X4=24, so we write

Start multiplying | h ’ t ’ ° |

4 at “o0” and write small
from the

numbers at “o0”.

[ Multiply the ] Lh ]t | o | |The multiplication at “t” is
numbers at "t". 8 4 6 X 8=48. We add the small

N—
6x8 J’SZ \~6 2 to 48, so it is 50. So we

B 4- write 0 at “t” and 5 at “h”.
'

If we write separately

by places, we can find

out the answer is

made of 24+ 480.




“0” means @, “t” means X “h means O.
4 \

Example| Multiply.
84 X6 84 X6
° &

—. .8 4
~ U6

Do not
forget to
add!

.

Exercise | Multiply.

D27 X5 @12 X9 @23 X9
5x2 7\‘ 9x1 1 2\‘ 9x2 2 3

X3
e
©
i)
e
O
g\zf

2| 2
X '\ 5>@




T26_505

Exercise | Multiply.
@18 X0 ®26 X4 @38 X8
@\1 8\5 4x-£\\2 6\5 @\3 8§

xA\Gq xA\4‘ xA\8§ 8 x8
B3 X5 56 X9 @75X4
@\6 3\5 @\5 6\5 @\7 55

x N5/ [} Mo/ [x M)
@54 X6 @067 X0 ®43 X5
@\5 4\5 6xé}\ \6 7\5 @\4 35

X N6 o] X N67 o) X N5/
®89 X5 68 X3 ®86 X7
(5x21.8 o 3x61 6 By (o8 65

x N5/ w) [x N3 x N\ 7/<759)




“0” means @, “t” means X “h means

O 126505

N

Example | Multiply.
84 X6 84 X6
=
8 4 4
ood/
x 6 Do not /S;
forget to : (@
add!
Exercise | Multiply.
®15 X7 @26 X5 @ 25X%X8 @26 X8
15 2.6 25 2.6
X 7 X 5 X 8 X: 8
®27 X4 ® 29 X7 @ 36 X3 ® 34 X6
2.7 29 36 34
X 4 X 7 X 3 X: 6




T26_5S05

Exercise | Multiply.

@47 X5 ® 44 X7 @53X%X8 @958 X7

47 44 58
x| 5  ix 7 X 7

®O7/ X2 ®@OB67X9 ®BO69X3 ®67X5
[hit o] [hit o] [hit o] [hit o]

o7 67 69 6:7
X: 2 X 9 ix i3 ix 5

m76x4 @®72X7 @®75X8 @78X9
[hitio] [(hitio] [hit o] [hie io]




“0” means @ , “t” means X “h means Q. 72659
N

Example | Multiply. Do not forget to write “ X ”.
84 X6 84 X6
h t h t o
= 8 &
R
5 0 4

o

(@

.

Exercise | Multiply. Do not forget to write “ X”,

®13X%X8 @17 X6 @23 X5
h t 0 |h t 0 h t 0
@25%x4 ®34 X9 ®35X3

h t o | h t o h t o




T26_505

Exercise | Multiply. Do not forget to write “ X”,
@46 X5 ®45 X9 ©52 X8
h| t | o | h | ¢ h | ¢ | o
@56 X4 @67 X5 @77 X4
h t 0 | h t h t

®O67 X3

®88 X8

®83 X5




T26_S06

~N

“0” means @, “t” means X, “h” means O, “th” means .

231 X 3 The multiplication at

Start multiplying “0”is1X3=3, sowe

h
from the numbers 2 3

o“_n

at “o”.
X

)E write 3 at “o0”.

W =

oN
(o
VL

The multiplication

I\):r

h
Multiply the ¢
numbers at “t”. at “t” is3 X 3=9,

So we write 9 at “t”.

oN
o] =

Multiply the th h t
numbers at “h”. 2 3 The multiplication
X \\

[o]
If we write separately
by places, we can find

at “h” is 3 X 2=6.

So we write 6 at “h”.

out the answer is

made of 3+90 + 600.




“0” means @, “t” means X, “h” means O, “th” means . T26_506

i Example| Multiply. \
231 X3 231 X3 é
2\ 3 1 ) = 2 3 1 ) Good
x ;. 3 x \L. 3 //«;
sl
633
Exercise | Multiply.
D312 X2 @123 X3 @213 X3

3:1:2 1:2: 3 21

X \Az?’ X \AS) X \Agj

@422 X 2 141 X2 ©®233 X 3

th h t o th h t o th h t

4 2 1:4:1 2 3
X \iz) X \AZ“) \i ‘)




T26_S06

Exercise | Multiply. Do not forget to write “ X”,
@112 X% 3 ®421 %2 @314 %2
112 4 21 314
« As) x N2 X ML)
331 X3 @111X6 @232 %X 3
3:3 1) 11 1) 2:3 2)
X \435 X \A6§ X \A3§
@221 X4 @133 %2 ®244 X 2
2 2 1 1:3 35 24 4w
X \A4) X \AZ) X \Az)




“0” means @, “t” means X, “h” means O, “th” means .

T26_506
)

Example | Multiply.

.

231 X3 231 X3 é
2 3 1 my 2 3 1 coow
X 3 X 3 =
693
Exercise |Multiply.
®112% 4 2223 %2 ®122 x4
1:1:2 2 2 3 112 2
X 4 X 2 X 4
@332 %2 ©122x3 ©443 X 2
3 3 1.2 2 4 4 3
X 3 X 2




o, n

0” means @, “t” means X, “h” means O, “th” means .

T26_S06

Exercise

231 X3

th

h

t

=

Multiply. Do not forget to write “ X",

231 X3

~N

th

h

t

23

:5'

6

3

1/
3 Good/
)

Exercise [Multiply. Do not forget to write “ X”,
®313 X 3 2212X4 @122 X3
th | h t th | h t 0 th | h t 0
@431 X2 ®324 X 2 ®134 X2
th h t th h t o th h t o




T26_506

Exercise | Multiply. Do not forget to write “ X”,

@313 X2 ®212 X4 @113 X3
th h t o th h t o th h t o
322 X 3 m432 X 2 @142 X2
th h t o th h t o th h t o

®231 X 3 @111 X5 ®343 X 2




“0” means @, “t” means X, “h” means O, “th” means [1. 126_507

~N

) | Let’s calculate this.
<

The multiplication at

324X3 “0"is3X4=12, so we

Start multiplying th | h t 0 write 2 at “o0” and write
from the numbers 3 2 4.) small 1 at “t”’.
at “o”. x 3 : '

1

No

The multiplication at

Multiply the th h !
numbers at “t”. 3 2 “t” is 3 X 2=6. We add
X \.

e
22
=D

W B

the small 1to 6, so it is

7. So we write 7 at “t”.

) h h
[ Multiply the ] ‘ 3 2 £c|’_ The multiplication at
numbers at “h”.
\ “h” is 3 X3=9..So we
\-
X 3 write 9 at “t”.

972

If we write separately by places,

we can find out the answer is

made of 12+ 60 + 800.




oa_n

0” means @, “t” means X, “h” means O, “th” means [I. T26_507

-ﬁ}} \
- Let’s calculate this.

‘?. 243 X 3 The mLIJItipIication at

oa_ 1 —
0" is 3 X3=54, so we
Start multiplying th h t ° !

from the 2 4_ 3 _ write 9 at “0”.
numbers at “o0”. X 3 )

The multiplication at “t”

is3X4=12. So we write

th h
Multiply the
numbers at “t”. 2

2 at “t” and small 1 at

IIhII
.

Multiolv th th h . . wyn
uftiply the The multiplication at “h
numbers at “h”. 2
XN
6+1=7 g }’\

If we write separately

is 3 X 2=6. We add the

small 1to 6, soitis 7. So

we write 7 at “h”.

IEE RS

by places, we can find

out the answer is

made of 8+ 120 + 600.




oa_n

0” means @, “t” means X, “h” means O, “th” means 0. | 26307

~N

| Let’s calculate this.

~~
27 8 X 3 The multiplication at

“0” is 3 X 8=24, so we

Start multiplying th h t

from the 2 7
X

write 4 at “0” and write

) small 2 at “t”.

numbers at “o0”.

W 00|-

ks
~

The multiplication at “t” is

Multiply the th h
numbers at “t”. 2

3X7=21. We add the

small 2 to 21, so it is 23. So

we write 3 at “t” and small

2at”h”.

X
¥ N
~ | 0l

Multiply the th | h
numbers at “h”. 2
\ is 3 X 2=6.. We add the

R’ small 2to 6, so it is 8. So

-8 3 4

If we write separately by places,

t o
7 8 The multiplication at “h”
~—3

we write 8 at “h”.

we can find out the answer is

made of 24+210 + 600.




o"_n

T26_S07
0” means @, “t” means X, “h” means O, “th” means .

-ﬁ}} \
- Let’s calculate this.

‘?. .1 38 % 6 The multiplication at “0”

is 6 X 8=54, so we write 8

a_n

Start multiplying th at “o” and write small 4 at

from the 1

X

Multiply the th h
numbers at “t”. 1
small 4 to 18, so it is 22. So

we write 2 at “t” and small

[ Multiply the ] th h
numbers at “h™. 1 8 The multiplication at “h”

3
X \\-6 is 6 X 1=6.. We add the
Dy
8 2

If we write separately by places,

(g7
t.
“_n

numbers at “0”.

W~
o) 00 -
)

The multiplication at “t” is

8
8 6 X 3=18. We add the
6}
8

8 small 2to 6, so it is 8. So

we write 8 at “h”.

we can find out the answer is

made of 48+ 180 + 600.




“0” means @, “t” means X, “h” means O, “th” means 0. | 726507

i Example |Multiply. )
278 X3 278 X3 g
%\7 8) = 2 7 8>Gwﬂ
SN
8 3 4
Exercise | Multiply.
D116 X4 @129 X 3 @428 X 2

1:1:6

X \A4

1:2:9 4:2

X \AS) X \Azj

st

@141x7 52324 ©263 % 3

th h t o th h t o th h t




T26_S07

Exercise | Multiply. Do not forget to write “ X",
@136 X7 ®154 x4 9245 X3

1 3 6 1:9: 4 2 4:5
« NU7) x N4« NUg)
@173 X5 @147 X6 @158 X4

1.7 3) 1 4 7) 1:5 8)
®138 X 3 @269 X 3 ®168 X3

1 3 8w 2: 6 95 1& 8
X NN 3) X NN 3) X N 3)




“0” means @, “t” means X, “h” means O, “th” means . 126_507
4 N\

Example | Multiply.

278 X3 278 X3

th h t o th h t o @

278 © 2 7 8 Goow
X 3 X 3~
834

. J

Exercise | Multiply.

®116 X5 @217 X4 ®325 % 2

th h t o th h t o th h t o
11 6 21 7 3125

X 5 X 4 X 2

@151 X6 5283 %3 ©391 %2

th h t o th h t ] th h t ]
151 2.8 3 3 0 1




Exercise

Multiply. Do not forget to write “ X”.

T26_S07

125 X7 ® 132 X6 9243 X 4
1:2: 5 1 3 2 2:4 3
X 7 X §) X 4
239 X 3 @137 X6 @178 X4
2 39 1:3:7 1:7 : 8
X 3 X §) X 4
®189 X4 @386 X 2 ®172 X5
1:8:9 3 86 1.7 :2
X 4 X 2 X 5




o_n

o

means @, “t” means X, “h” means O, “th” means .

T26_S07
N\

Example

278 X3

Multiply. Do not forget to write “ X ”.

278 X3

th | h t th | h t )
e 5"/}
> (2783
3 Good/
R’
. 8 3 4|
Exercise | Multiply. Do not forget to write “ X”,
®112X%x8 @123 X4 @114 X6
th | h t th | h t ) th | h t o
@262 X 2 ©®242 X 3 ®171 x4
th h t th h t o th h t o




T26_S07

Exercise | Multiply. Do not forget to write “ X”,

@138 X4 ®157 X5 ©166 X 3
th h t o th h t o th h t o
129 x4 m139 X6 238 X 3
th h t o th h t o th h t o

®258 X 3 @367 X2 ®475X%X 2




“0” means @, “t” means X, “h” means O, “th” means [J. | 726_508

~N

| Let’s calculate this.
<

432 X 3 The multiplication at

“0” is 2 X3=6, sowe

Start multiplyi th h t o )

art mutplying write 6 at “o0”.
from the numbers 4 3 2
at ”O”. x 3)

The multiplication

at “t” is 3 X3=09,

. th h t
Multiply the
[ numbers at “t”. ] 4 3
X \

So we write 9 at “t”.

O\ @ N

The multiplication

at “h” is3X4=12.

Multiply the th h t
numbers at “h”. 4 3
\\ . wyn
X So we write 2 at “h

I 2 3 6 and 1 at “th”’.

If we write separately by places,

2
-3

we can find out the answer is

made of 6+80 + 1200.




oa_n

0” means @, “t” means X, “h” means O, “th” means .

T26_508

— Let’s calculate this.

~N

692 X 3

Start multiplying th h t

from the

numbers at “0”.

6 9

“, n

X

W NJe

[

Multiply the ] th h

numbers at “t”.

W N[ | ON

"7

[

Multiply the th
numbers at “h”.

t

6 9
x N\
9

6

X N
_

20 7

[io+2=20]

NEESEE

The multiplication at
“0"” is 2 X3=6, so we

write 6 at “o0”.

The multiplication at
“t”is 3 X9=27.
So we write 7 at “t” and

small 2 at “h”.

Tﬁ

The multiplication at “h”
is3X6=18.. We add
the small 2 to 18, so it is

20. So we write 0 at “h”

If we write separately by places,

we can find out the answer is

made of 6+270 + 1800.




oa_n

0” means @, “t” means X, “h” means O, “th” means .

T26_508

— Let’s calculate this.

~N

The multiplication at “o”

387 X6

Start multiplying th h t
from the 3 8
numbers at “0”. x

Multiply the th h
numbers at “t”. 3

B~
N@\lo NQ}“

is6X7=42, so we write
6 at “0” and small 4 at

re s
Tt

The multiplication at “t” is
6 X 8=48. We add small 4

to 48, soitis 52. So we

write 2 at “t” and 5 at “h”.

Multiply the th
numbers at “h”.

X
_/
O -

= %
3 2 2

The multiplication at “h”
is 6X3=18.. We add
the small 5 to 18, so it is
23. So we write 3 at “h”

and 2 at “th”’.

we can find out the answer is

made of 42+480 + 1800.




“0” means @, “t” means X, “h” means O, “th” means . T26_508

i Example| Multiply. )
387 X6 387 X6 é
3\8 7) = 3 8 7.)Gmu
s N
2.3 2 2
Exercise | Multiply.
D613 X 2 @523 X 3 @412 X3

6 1 3 °2:2:3 41

X \Az?’ X \AS) X \A?)

@341 %7 5232 X6 ©®363 X 3




T26_508

Exercise| Multiply. Do not forget to write “ X”,

@236 X7 ®354 x4 ©245%X6
th h t o th h t o th h t o
2 3.6 3. 954 2:4:5

X \A7) X \A4) X \AG)

w373 %5 M147 X 8 @158 X7
3i7 3) 1: 4 7) 15 8)
@438 X 3 @269 X 8 ®768 X 3

th h t o th h t o th h t

4 3 8w 269E 7i8;
X \AS) X \ASI X N 3)

N




“0” means @, “t” means X, “h” means O, “th” means [1. 126_508
~

Exercise | Multiply.

387 X6 387 X6

387 © 3.8 7 Goow
X 6 6 -
SN
2 3 2 2
Exercise |Multiply.
D723 X2 @412 %X 4 @932 x 2
7 23 4:1:2 9: 3 2
X 2 X 4 X 2
@®151 X9 ®283 X4 ®391 X6
1:5: 1 2.8 3 3:9 1




Multiply. Do not forget to write “ X”.

T26_5S08

D325 X7 ®132X8 9643 X4
3 2 5 1 3 2 6: 4 3
X 7 X 8 X 4
@439 X 3 @137 X9 @378 X4
4:3:9 1:3:7 3 7:8
X 3 X 9 X 4
189 X6 @386 X 8 ®172X%X9
1:8:9 3 86 1.7 2
X 6 X 8 X 9




oa_n

0” means @, “t” means X, “h” means O, “th” means .

T26_508

Example | Multiply. Do not forget to write “ X”.
387 X6 387 X6
th | h t ) th | h t )
- ~ A
> (13 87|
6 Good/
RN N
S 2
Exercise | Multiply. Do not forget to write “ X7,
®631 X 2 @824 X 2 @734 X2
th h t o th h t o th h t o
@462 X 3 ®742 X3 ®171X%X9
th h t o th h t o th h t o




T26_508

Exercise | Multiply. Do not forget to write “ X”,

@238 X6 ®357 X5 9466 X 3
th h t o th h t o th h t o
129 X% 8 439 X6 238 X5
th h t o th h t o th h t o

@258 X7 @367 X4 ®B75 X2




T26_509

~N

“0” means @, “t” means X, “h” means O, “th” means .

— Let’s calculate this.

The multiplication at “o0”
703 X6

is 6 X3=18, so we write

Start multiplying th h t o . e,
8 at “0” and small 1 at “t”’.

from the numbers 7 O 3

at llO”.

The multiplication at “t” is

6X0=0.Weadd1toO, so

Multiply the th h : °
umbers at “t”. 7 Q 3 |itis 1. So we write 1 at “t”.
X -0
E:Ll\. 8
Multiply the th h t o —— —
numbers at “h”. 7 O 3 The multiplication at “h
R is 6 X 7=42.. So we write
x ] 6 o n a 124
2 at “h” and 4 at “th”’.
L Y 2

If we write separately by places,
we can find out the answer is

made of 18+0 + 4200.




oa_n

0” means @, “t” means X, “h” means O, “th” means [1. 126509

~N

— Let’s calculate this.

27 O X 8 The multiplication at

“0” is 8 X0=6, so we

Start multiplying th h

t
from the 2 7

write 0 at “0”.

numbers at “0”.

“, n

The multiplication at “t” is

[

8 X 7=56. So we write 6

Multiply the ] th

numbers at “t”.
at “t” and small 5 at “h”’.

[

The multiplication at “h”

Multiply the ] th

numbers at “h”.

(o]
O is8X2=16..Weadd 5
8 to 16, soitis 21. So we

write 1 at “h” and 2 at

O |

If we write separately by places, we

0y
N /\l~ ON| -

i /N

can find out the answer is made of 0+

560 + 1600.




“0” means @, “t” means X, “h” means Q, “th” means [1. | 726509
N

Example |Multiply.
703 X6 703 X6 &E&
x 6 x g S
T
L 218

Exercise | Multiply.

®320X 8 @540 X% 3 ®@410X6

th h t o th h t o th h t

320 54:0 4 1

X \Ag?’ X \AS) X \Ag)

@301 X7 ©204 X 6 ©609 X 8




“0” means @, “t” means X, “h” means O, “th” means . T26_S09

~N

Example| Multiply.

703 X6 703 X6

th h t o th h t o @

703 & 7 O 3 Goow
6 6

X X e
<~
L2418
Exercise | Multiply.
®730X 2 @670 X4 @930 %X 7
7 30 6 7: 0 9: 3:0
X 2 X 4 X 7
@505 X% 8 ®608 X 4 ®307 X6
5 0:5 6 O0: 8 3 0:7




T26_509

“0” means @, “t” means X, “h” means O, “th” means .
N

Example| Multiply. Do not forget to write “ X”.

703 X6 703 X6

th h t o Z

> (1703

o)
6 Good/

218

Exercise | Multiply. Do not forget to write “ X”,

®680 X 4 @820 X% 3 ®@790X6

h t o

th h t o th h t o th

@402 X 3 ®702 X3 ©®503 X9




T26_510

4 Let’s find out the answer of 4 X 20.

4

EEEENEEEE]
EEEENEEEE)

X 20

|@@@@H@@@@||l

EEEEIEEEE)

EEEENEEEE]

EEEENEEEE)

EEEEIEEEE)

EEEENEEEE]

_

EEEENEEEE)

EEEEIEEEE)

~N

4 X 20 means 20
groups of 4.

-

If we make a pair of 4, there are 10 groups.
Let’s find out the total number by multiplication.

4 X2 =9

EEEEIEEEE]

EEEENEEEE])

EEEEIEEEE]

EEEEIEEEE]

EEEENEEEE]

EEEEIEEEE]

EEEEIEEEE]

EEEENEEEE]

EEEEIEEEE]
EEEEIEEEE]

|

1 O Groups

(4%2)%1

O=

<| calculate inside the (

The (4 X 2 ) means we have to

) first.




T26_510

~

4 X2 =9

EEEEIEEEE)

EEEEINEEEE]

EEEEINEEER)

EEEEIEEER)

EEEEIEEEE)

EEEENEEEE]

EEEENEEEE]
EEEEINEEEE]

EEEEINEEEE]

EEEENEEEE]

|

1 O Groups i % Good
(4x2)x10= [ 80 J{ap

‘ ]
|

~\

(4X2)X 10= 4 x 20| 4*2)x10and 4x20

are the same number.

ax20=(__ "

— J

N

N\

(4X2)Xx10=4X2

4%x20= 8 O/{/ {ap

’ X X
‘v. Let’s compare 4 X 20and 4 X 2.
— The answer of 4 X 20 is the
4 x20=80 same as the number which

4 X 2 =8 right O at “0” of 4 X 2.




T26_510
N\

Let’s find the answer of 14 X 20 by using the
answer of 14 X 2,

S First, find
14 X 2 o [: the answer

-14 X 20 — of 14X 2,

_ | )
- N
ﬁ Let’s find the answer of 14 X 2.

14 X 2 =

14 x 20

14 x 2 = |28
14 x 20

4
2
—  Good/ 2 8

ﬁ 14 X 20 is a number with 0 at the 2 of 14 X 2.

=% ) PutaOto
the answer
of 14 X 2.

:




T26_510
N\

Let’s find the answer of 30 X 20 by using the
answer of 30 X 2.

S First, find [
3 O X 2 C] the answer \
3 O X 2 O — l I of 30 X 2. 7 -
= ' )
- N\
Z We can easily find the answer of 30 X 2
because it is 2 sets of 30. /
71
30 x 2 = (60)¢3

30 X 20

[
:
|

30 x 2 = (60 )/@

30 x 20 = (600 |suu

|\ J
e - N
< Let’s compare the 3 If the 3 X 2 is the
number sentences.

1 Same, we put 0
—_ 0A 0@ as many as the
3 X 2 6 £ number of 0
30x2 = 60 —Jonm |
30X 20=600 < oxza| |




T26_510

Example

Multiply.

(600 ﬁf@m

30X 20=

Exercise| Multiply.

® 9x30=| | 23x50=]
® 6x80 =| | @ax70 =
© 22x30 = | © 388 x20 =[
2 12X50 = ® 27 x20 =
© 32x 40 =| | ®53x30 =
» 30%30 = |2 20x 40 =|
® 20X50 =| |»60x20 =|
5 40%x 30 =| |®»30x70 =|




T26_S11

Multiplication of big
numbers.

o

3

/\
(X
8
|

Split 23 into
the numbers
Of lltll and " II.

In total

240

Laxzad ' 2¥(20)
12

(3)-( 36 @

Good/

e (D ZGY

Ve

12 x 23 = (2760

We can multiply even if the number of the

the number separately by their places.

bottom of multiplication is bigger by splitting i> g




ow_n

0” means @ , “t” means X “h” means Q.| 2611
§

Start multiplying

from the numbers

o“_n

alignto “o”.

The multiplication of “0” is 12 X 3, so they are
~— 3X2=6and3x1= 3setsof@.

e N

|
Multiply the [ h ’ t | o |

numbers align 1 2
to “t”. @7(2_jé=j 2x2= l

Wehave2><1=25etsof and2><2=@

RN : sets of 10 at “t”.




T26_S11

~

“0” means @, “t” means X “h” means O.

Let’s go on the calculation.

Add the numbers

of the top and
bottom to get the

answer.

:
2
>
A

276

In a vertical multiplication, we calculate each
places separately and add later.

If we write separately by
places, we can find out the
answer is made of
6-+30-+40-200.




ow_n

0” means @ , “t” means X “h” means Q.| 2611

N
ﬁ Let’s multiply 16 X 35 by vertical method.
16 X35
Start multiplying | h l t l o |
from the numbers 1 6
alignto “o”. |5><1= J—— x 3\~_5‘ﬁ5>(6: @@
§ O
The multiplication of “0” is 16 X 5, so they are 5% 2
=6and5X1 = 55etsof.
_ Y,
4 N\

Multiply the

numbers align ( 1 6
to “t”. |3><1= J’7 3_}5 13%x6= @)

. The multiplication of “t” is 16 X 30, so they are

§ 3><6=18setsofand3><1=3setsof.

. J/




ow_n

0” means @ , “t” means X “h” means O.

~

Let’s go on the calculation.

Add the numbers of |

the top and bottom

to get the answer.

We do not forget the 4
number we have carried \L

by writing it in small size.

ON OO 00 o — |-

If we write separately by
places, we can find out
the answers is made of
30+50-+180+300.




ow_n

means @ , “t” means X “h” means Q.| 261!

o
( Example| Multiply. )
16 X35 16X 35 @
h it o h it o
16 1:6
X 35 = x 35 9
‘ﬁ16x5| 4 % 0‘ﬁ16><5|
+ ‘ﬁ16x30| }i 8 ‘ﬁ16><30|
| 5607
Exercise| Multiply.
M 12x32 ® 21x%x23 @ 31x%x32
hit o
12 21 3i1
X3 2 ee) X238 ) X325
s JEX JGEED N (o1
@ 11XxX63 ® 15x%x21 ® 41x%x12
1:1 15 41
88 X215 X120
s [ | =y JoED




T26_S11

Exercise| Multiply.
@ 13x54 ® 14x46 @ 28x23
1:3 1i4 2 8
B A e XA6 ey X23o
N Lo | Led [z
i 37%x12 @ 12x45 @ 19x34
3 7 1.2 19
X1 2o X458 fmq X34 10
N JGED L] =
@ 27 x23 @ 29x22 @® 46x12
27 2 9 46
B3 X220 X120
N JCE JCEDI [eem)




“0” means @, “t” means X “h” means Q.

T26_S11

~N

X295 Xi3:i7

Example| Multiply.
16 X35 16 X35 @
h t o h t o
1:6 1:6
X 35 I:> 5 :\25 Good/!
180
N
+ + 48
560 7
Exercise | Multiply.
@ 23x13 @ 41x21 @ 32x21 @ 11x52
hit!o
23 41 3i2 1:1
X:1:3 X2 X2 X 52
+ + + +
® 16 xX25 ® 14 x37 @ 39x12 ® 12x48
16 1i4 39 12

X:1i2 Xi4:i8




o _n

0” means @, “t” means X “h” means O.

(| N\
Example| Multiply. Do not forget to write “ X ” and “+”.
16 X35 16 X35
h t o |:“> h t o P
| RHE
X3 5
Good/!
103 o
¥ 8
\_ J \_ J
- J
Exercise | Multiply. Do not forget to write “ X” and “+”.
22 X 31 @12 X 24 @33 X 21
h t o h t o h t o




T26_S11

Exercise | Multiply. Do not forget to write “ X” and “+".
@12 X43 ®24 X 21 ®25X%X23
h t h t h t | o
-
. y,
@14 X 25 ®18 X34 @29 X 23
h t h t h t | o
e e e
. . . y,




T26_S11

Exercise| Multiply. Do not forget to write “ X” and “+".
W28 %X 13 ™17 X42 @27 X23
h t h t h t o
e e e
\ \ \ y,
®23 X 34 @15 X 35 ®47 X 12
s f e
\ \ . y,




“0” means @, “t” means X, “h” means O, “th” means [J. | 726_512

() )
' < Let’s calculate this.
S
32X76
Start multiplying th h t o
from the numbers 3 2
at “o0”. \. )
X 776
~
B d The multiplication of “0” is 32 X 6, so they are
= ~— 6X2=12 and 6 X 3 sets of .
S an sets o @ )
4 N\
I
Multiply the th | h t

numbers align

tO ”t",

o
2 We start writing at
“t” to align with the

place of 7.

) d The multiplication at “t” is 32 X 70, so we have 7 X 2

= ?I =14 sets of (10) at “t” and 7 X 3=21 sets of '

\_ A2 Y,




o_n

0” means @, “t” means X, “h” means O, “th” means 0. | T26_512

N/ :II Let’s go on the calculation.

[ 32x76

Add the numbers

h

of the top and
bottom to get the

answer.

2
6
2
+ 2
2

=~ INAR | X
W+~ o w-

2

If we write separately by
places, we can find out the
answer is made of
12+180+140-+2100.




“0” means @, “t” means X, “h” means O, “th” means [J. | 726_512

r 2

Example| Multiply.
32%76 32 %76 (@
th h t o th h t o
32 32 Good/
X 7.6 = X 7.6
1 § 27929
+ ‘zl32><70| +i 9 é A ‘£|32x70| )
2i4i3i2 &
Exercise | Multiply.
M 17 X 86 @ 39X%x56
th h t o th h t o
1:7 3:i9
X 8 6 !17x6| XS 6 !39x6|
® 25x64 @ 48 x93
th h t o th h t o
25 4:8
X 6 4 !25x4| X 9.3 !48><3|
+ : + .




T26_512

Exercise | Multiply.

® 47 %83 ® 23x76
th h t o th h t o
4:7 2:3
X 8 3 !47x3| X 7 6 !23><6|
47 x 80
@ 35x57 ® 68x34
th h t o th h t o
3:5 6: 8
X 5 7 !35x7| X 3 4 !68><4|
‘ ‘
+ g + -
@ 74 x36 @ 81x49
th h t o th h t o
74 81

. 3 6 !74x6| X 4 9 !81><9|
o= o




“0” means @, “t” means X, “h” means O, “th” means [J. | 726_512

Example| Multiply.
32%76 32 %76 (@
th h t o th h t o
32 32 Good/
X 76 C> X 76
1 %
E: 9:2
+ + 22 4L 7
2 432
Exercise | Multiply.
1 24 X 86 ® 43 %X63 @ 54X%x62
th | h | t th | h |t | o th | h | t | o
2:4 4:3 54
X:8:6 X063 X:6: 2
+ + +
@ 87 X46 ® 52x34 ® 68 x99
8i7 52 6:8
X 4:6 X34 X:9:9
+ + +




“0” means @, “t” means X, “h” means O, “th” means [J. | 726_512

-

N
Example| Multiply. Do not forget to write “ X ” and “+".
32X76 32X76
Lt | n [t ] o lth [ h [t ] o] =
e A N
x 7 6
1K
%L\ 92
+2 24
\ , (2432 g
\
Exercise | Multiply. Do not forget to write “X” and “+”. Good
D37 X54 @46 X67 @52 X28
([ h]e]of [[n[e]of [th]|h]|t] o]
s N\ N\ A
J J U y,




T26_512

Exercise | Multiply. Do not forget to write “ X” and “+".
@44 X 65 ®76 X34 ®86 X 49
[t [0 |t ] o | n |t ] o lth | n [t ] o
e N\ N\ A
. J AN y,
@62 X 25 ®38 X 34 @79 X 93
([ nfelofl [o[n[e]of [t]n]|t] o]
e N\ N\ A
. VAN J U y,




T26_512

Exercise | Multiply. Do not forget to write “X” and “+".

28 x 84 W67 X 42 @77 %23
(o[ [efe] [olnlefo] [o[n][e[o]

( N ( N\ 7 N\

N 7/ J )
53 X 94 ®75 % 35 ®47 X 68

( N\ ( N\ N




o_n

0” means @, “t” means X, “h” means O, “th” means 0. | T26_513

N
4 Let’s calculate this.
218 X 24
Start multiplying th h t o
from the numbers ZN‘l 8
alignto “o”. N )
X 2 4
N
The multiplication at “0” is 218 X 4, so they are 4 X 8=
32,4 X 1=4 at sets of 10 &nd 4 X 2=8 sets of 100(_ )
J
4 N\

Multiply the th h !

numbers align 2\{ ,8
to “t”. x 21 4
2

87
L 36
=B

The multiplication at “t” is 218 X 20, so we have 2 X 8=16 sets of

, 2 X 1=2 sets of @ and 2 X 2=4 sets of.

Y We start writing at
" “t” to align with the
place of 2.




o_n

0” means @, “t” means X, “h” means O, “th” means 0. | T26_513

~

Let’s go on the calculation.

218 x 24

Add the numbers

th t

of top and bottom

h
to get the answer. 2

X

18
2.4
Y
72
6

_|_
£~
No 00

32

the answer by calculating separately by places.

<4 X8
—4x10
RS-0 Ol |f we write separately by places,
—20x8 - .
c20x10 NakEl find out the answer is
—20%200 made of

32+40-+800-+160-+200-+4000.




“0” means @, “t” means X, “h” means O, “th” means [J. | 726_513

r 2

Example| Multiply.
218 X2 218 x24 (@
th| h| t| o th [ h| t| o
2:1:8 2:1:8 Good/!
x| 24 > x 24
Ferexa] 8 7 25z1exs]
+ o)+ 135 See
\ 5232 )
Exercise | Multiply.
® 175X 36 @ 239x28
th | h | t | o lth | h [t ] o
1175 2.3 9
X 4,36 Xi,i 2 8

<1175%6 “1239x8

JUaD eaoxe)
+ ‘<|175><30| + ‘<|239x20|

® 312x13 @ 123 %39
th h t o |th h t o
3:1:2 1:2:3
X 1:3 X 3:9

T1123%x9

Farzxs] (12379
N <arexio + =20x30)




T26_513

Exercise | Multiply.
® 141 x52 ® 163 x47
th | h |t | o| ([0 |t ] o
1:4:1 1:6:3
X 5:2 X 4:7
i l ‘ﬁ163x7|
+ I | + “l163x40|
@ 213x19 ® 422x11
th h t o th h t o
2:1:3 4 :2:2
X 1:9 X 1:2
i I “/]422><2|
+ I I + ‘<|422x1o|
© 314x26 i 225x34
th | h | t | R | Lt | [t ] o
3 1 4 2:2:5
X 2:6 X 3i4
i l "/]225x4|
+ l I + ‘<|225x30|




“0” means @, “t” means X, “h” means O, “th” means .

T26_513

Example| Multiply. )
218 x 2 218 x 24 (@
th h t o th h t o
2:1:8 2:1:8 Good/
X: 24 = X: 2.4
1%
872
+ uEEE
52 32
Exercise | Multiply.
D 112x47 @ 122x63 @ 332x21
th h t o th h t o |th h t o
1:1:2 1:2:2 3:3:2
X 4:7 X 6: 3 X 21
+ + +
@ 122x49 B 223X 36 ® 246X%x27
1:2:2 2:2:3 2:4:6
X4 4:9 X4 36 X 2:7
+ + +




“0” means @, “t” means X, “h” means O, “th” means .

T26_513

. N
Example| Multiply. Do not forget to write “ X ” and “+”.
218 x 24 218 x 24
lth [ n | e | o] lth [ h [t ] o] »
e A >
218
xi 124
1! %
872
L3 6
\ ] [sz32 |
\
Exercise | Multiply. Do not forget to write “X” and “+”. Good/
®122 X 38 @216 X 24 ®312 X 31
(o [ o [e o] [[n[eo] fonln]e]o]
s N\ N\ 2
\ J J U y,




T26_513

Exercise | Multiply. Do not forget to write “ X ” and “+".

@123 X 32 ®238 X 34 ®187 X 31

L [ n e[ of [ [n]t]of ] h]t] o]
e N\ N\ 3
. J U AN y,
@323 X 12 ®185 X 54 @492 X 13

L [ n e fof [ [n]e]of ] ]c] o]
e N\ N\ 3
. J U J \ y,




T26_513

Exercise | Multiply. Do not forget to write “ X ” and “+".
@129 X 67 136 X 29 2326 X 23
L [ n e[ of [ [n]t]of ft]h]t] o]
e N\ N 3
. J U J L y,
@273 X 28 ®312Xx22 ®517 X 11
e N\ N\ 3
. J U J \ y,




“u_n

0” means @, “t” means X, “h” means O, “th” means .

T26_514

B) )
] < Let’s calculate this.
‘"'
324 X 63
Start multiplying th h t °
from the numbers 3N2 4
alignto “o”. \,, )
X 6 3
The multiplication at “0” is 324 X 3, so they are 3 X 4=
12,3 X 2=6 at sets of @and 3 X 3=9 sets of .
J
4 N\
I
Multiply the th h t o
numbers align 3 2 4
to lltH' « /’
X 6" 3
9 } 2
We start writing at
\j& X “t” to align with the
1 3 4- place of 6.
: 18+1=19 ] 12+2=14
o e
The multiplication at “t” is 324 X 60, so we have 6 X 4 = 24 sets of
,6><2=12$etsofand6><3=185etsof .
. J




“0” means @, “t” means X, “h” means O, “th” means [1. 126_514

~

Let’s calculate this.

324 X063

th

Start multiplying

from the numbers

w:r

o“_n

alignto “o”.

X

4
3
2
2

AT
+49
20

£~ |~ Lon
R~ o N -

324
X 63
12 «<3x%x4

60 <—3x20
900 «3x300 )
PIIE Pl [T we write separately by places, we

LRl R TR S 1ol can find out the answer is made of

el 12 +60-+900+240+1200+18000.




“0” means @, “t” means X, “h” means O, “th” means .

T26_514

Example| Multiply.

~N

32463 | 324 %63 (@
t t o th h t o
3i2:4 3:i2:4: Good!
x 63 = x 63
‘ﬁ324x3| o § ;12‘ﬁ324x3|
-+ ‘<|324x60| + /_:]L_ 3 z A ‘<|324><60|
2041 2 7
Exercise | Multiply.
M 375X%X46 @ 239x58
th | h |t ] o th | h [t [ o]
3:7:5 2:3:9
X 4:6 X 5 8
“/]375x6| ‘ﬁzsgxsl
+ ‘<|375x40| 4 ‘<|239x50|
@ 412X%X63 @ 523 %x39
th h t o th h t o
4:1:2 5:2:3
X 6:3 X 3:9
‘—/]412><3| ‘ﬁ523x9|
+ ‘<|412x60| + ‘<|523x30|




T26_514

Exercise | Multiply.

® 241%X62 ® 563x47
th h t o th h t o
2:4:1 5 6:3
X 6:2 X 4:7

1241 %x2 1563 %7

e 2] eoax7)
+ A i241><60| + - i563><40|

@ 153%x79 ® 322%X66
th h t o th h t o
1.5 3 3:2:2
X 7:9 X 6:6

“1153%x9 1322%6

1539 (322 xo)
+ ‘<|153x70| + ‘<|322x60|

@ 584 x35 267 X 89
th[ h]t]o th[ h[t]o
5:8 4 2:6:7
X 3:5 X 8:9

<1584 x5 1267 x9

oaexs) 207 x9)
+ - i584><30| + - i267><80|




“0” means @, “t” means X, “h” means O, “th” means 1. 126_514
<

Example| Multiply.
324 X63 324 X63
th | h o th

t h t o
3 2:4 3. 2:4: Good!
x 63 ~  x 63
1: %
14372
Al 194 4
2,0 4127
Exercise | Multiply.
M 176 X64 @ 286 x97
th h t o th h t o
1:.7:6 286
X 6: 4 X 9:7
+ +
@ 367 %32 @ 482x43
th h t o th h t o
3:6:7 4:8:2
X 3:2 Xi4:4:3
+ +




T26_514

Exercise | Multiply.

® 274 %x58 ® 187 x94
th h t o th h t o
2:7: 4 1:8:i7
X 5:8 X 9:4
+ +
@ 647 x78 726 %X 38
th h t o th h t o
6:4:7 7:2:6
Xi4:i7:8 X 38
+ +
© 824 x36 685x%x83
824 6:8:5
X 36 X 8: 3




“0” means @, “t” means X, “h” means O, “th” means . T26_S14

324 X 63

[ [enlh[et]o]

324 X063

Example| Multiply. Do not forget to write “X” and “+"”.

N

[th] h]t] o]

X

3

20
3

O [Loxr

|~ Lon

6
<
72
A
1

@® 132X96

[ [t][nh]e]o]

@ 153%x72

[th [h [t [o]

- gé
J
Good/!

Exercise | Multiply. Do not forget to write “X” and “+".

® 265X%X45

[th | h|t]o]

\

\

\




T26_S14

Exercise | Multiply. Do not forget to write “X” and “+".

@ 389x47 ® 428x75 ® 459 %29

L lt[n[e]o] [ [t[h[t]o] L [th[h[t]o]
( \ \
\_ \. \.

@ 576 x38 ® 492x54 @ 517 x43

Ll [nfe o] Ll [h[t[o] L It [h]t o]
4 \ ( \ ( )
\. \. \.

@ 459 %65 @ 528 %79 @ 748x15
4 \ \ )




o_n

0” means @, “t” means X, “h” means O, “th” means 0. | T26_515

20 h

< Let’s calculate this.
Y [203 x 54

Start multiplying th h t o
from the numbers 2

The multiplication at “0” is 203 X 4, so they are 4 X 3=
12 at 1,4 X 0=0 at sets of and 4 X 2=28 sets of @

Multiply the th | h t

numbers align 2?2 (03
to “t”. X «g/’4
é 12
15
Lo+1-1]

The multiplication at “t” is 203 X 50, so we have 5 X 3 sets of ,

5><Osetsofand5><2$etsof.

We start writing at

E “t” to align with the
place of 5.




T26_515
\

Il ”

means @, “t” means X, “h” means O, “th” means .

| 4 Let’s go on the calculation.

203 X 54

Add the numbers th h

of top and bottom 2

to get the answer.

X

3
4
2
2

Lo |0
N U1 PAo o

+410
10

203
X 54

12 «4x%x3
0 «<4x0
IO R B S Told Ml |f we write separately by places,
LSRRIt Il \\e can find out the answer is
0 <50%0
+10000 —50x200 MELEE
10962 12+0+800+150+0-+10000.




“0” means @, “t” means X, “h” means O, “th” means . T26_515

~N

Example| Multiply.
203 x 54 203 x 54 (@
th h t o th h t o
2:0:3 2:0:3: Good!
X 54 = x_ 54
‘ﬁ203x4| 8 j_ 2‘%203x4|
-+ ‘<|203x50| + 1 O & 5‘ ‘<|203x50|
1 (0] 3 6 -2—/5///@ )
Exercise | Multiply.
1 503 x64 @ 309 x85
th h t o th h t o
5:0:3 3:0:9
X 64 X 85
“/]503x4| ‘ﬁ309x5|
+ ‘<|503x60| + '<|309x80|
@ 402 x59 @ 207 Xx96
th h t o th h t o
4:0:2 2:0:7
X 59 X 9 6
‘—/]402><9| ‘ﬁ207x6|
4 ‘<|402x5o| + ‘<|207x90|




“0” means @, “t” means X, “h” means O, “th” means . T26_515

Example| Multiply.
203 x 54 203 x 54 (@
th h t o th h t o
2.0 3 2.0 3  coods
X 54 X E 4
812
+ +401s5
| 10962~
Exercise | Multiply.
@ 307 x52 @ 407 x64
th h t o th h t o
3:0:7 4:0:7
X 5 2 X 6: 4
+ +
@ 708 x15 @ 506 x38
7:0:8 5:0:6
X 15 X 3:8




“0” means @, “t” means X, “h” means O, “th” means . 126515

4 2\
Example| Multiply. Do not forget to write “ X ” and “+".
203 x54 203 x54
L [w[n]t]o] L fef[n]efof
s \
203
X X 54
G
812 @
+ = 1071 5 =
| ) L40962)7
Exercise | Multiply. Do not forget to write “ X” and “+".
@ 208 x95 @ 503x76 ® 602x54
[ [t [n [t [o] [ [t [n e [o] [ [t [n e [o]
e \ ([ \ ([ \
. \ .
@ 803x17 @ 606 x89 ® 508 x43
e \ \ ([ \




o_n

0” means @, “t” means X, “h” means O, “th” means . | T26_516
N

' < Let’s calculate this.

‘g. 2 8 4 X 3 7 6 The multiplication

at “0” is 284 X 6, so

Start multiplying we have 6 X 4=24

t
from the numbers 2 8 4 sets of (1) 6 X 8=
N )

\, 48 sets of 10 and
6 6 X 2=12 sets of

S
1704
ozt e

ow_n

alignto “o”.

Multiply the th h
numbers align 2

to “t”. «
3

4 The multiplication
at “t” is 284 X 70,
¢f6 sowe have 7 X 4=
28 sets of 10),
4- 7 X 8=56 sets of

and 7 X 2=14
sets of 1000.

@)

N 00 -

We start writing at

“t” to align with the
place of 2.




o_n

0” means @, “t” means X, “h” means O, “th” means . | T26_516

~

Let’s calculate this.

284 X376

Start multiplying th

from the numbers

o“_n

alignto “o

~ (o Bn

00 Os%\l\‘:oo -

We start writing at
“h” to align with
the place of 3.

2
The multlpllcatlon at “h” is 284 X 300, so we have 3 X 4 12 sets

of‘,3><8 24setsof-and3><2 6 sets of 0000.

- J




“0” means @, “t” means X, “h” means O, “th” means .

T26_516

Let’s go on the calculation.

~

Start multiplying
from the numbers

o“_n

alignto “o”.

284 X376

th

284

24
480
1200
280
5600
14000
1200
24000

106784

X 376

+60000

2
2
Z
8
2

00 O¥N o~

~ (o B

O | ¥R~
ON Ukt s 1| X

7

8

b

—6x4
«—6x%80
—6x200
«—70x4
«—70x80
«—70x200
«<—300x4
«—300x%x80
«~—300x% 200

If we write separately by places,
we can find out the answer is

made of

24+480+1200+280+5600+
14000+ 120024000+ 60000.




“0” means @, “t” means X, “h” means O, “th” means [J. | T26_516
s N

Example| Multiply.

284 x 376 284 x376 @
th h t o th

2: 84 Good/

X:i3:7:6
‘1284x70|

‘1284 X 300 I
L7

Vo

284 X6

10 b

284 X 70

+ '1284 X300 +

i

O 00K ~

O [Uico s x
N OO N |7
N OO O¥d ol

Exercise | Multiply.

M 275%X146 @ 439x258
th h t o th h t [
2.7:5 4:3:9
X:1:4:6 X:2:5:8

439Xx8

275X 40 439 X 50

HIEE
HIHH

_I_ 13275 x 100 + 17439 x 200




T26_516

Exercise | Multiply.
@ 512x163 @ 423 x239
th h o th h o
S 2 4:2:3
Xi1 3 Xi2:3:9
o e
_I. | i512><100| _I_ ’ i423><200|
® 218 X652 ® 673 x384
th | h 0 th | h 0
2 8 6 3
X:06 2 X:3 4
'<l218><50| '<l673><80|
+ : i218><600| + : i673><300|




T26_516

Exercise | Multiply.
@ 153 x%x279 ® 246 X613
th h t [¢) th h t o
1.5:3 2:4:6
Xi2:7:9 Xi6:1:3
== ==
+ <| 153 X zool + <| 246 X sool
@ 493 x257 547 X264
th h t o th h t o
4:9: 3 ° 47
X:2:95:7 X:2:6:4
‘<l493x50| ‘<|547x60|
+ <| 493 X 200| + ﬁ 547 x 200|




“0” means @, “t” means X, “h” means O, “th” means [J. | T26_516

(- 2

Example| Multiply.
284 x376 284x376 @
th | h t o th | h t 0
2:8i4 2: 84 Good!
x376 x 376
1704
=
1388
+ + 8__5 2
106784~
Exercise | Multiply.
M 276 X643 ® 186 x397
th h t o th h t o
2.7 6 1:.8:6
Xi6:4: 3 X:i3:9:7




T26_516

Exercise | Multiply.

@ 617 x432 @ 264 x543
th h t o th h t o
6:1:7 2:6:4
Xi4:3:2 XiH%4:3

+ +

® 472%X658 ® 163x924
th h t o th h t o
4:7 2 1.6:3
Xi6:5 8 X:9:2:4




T26_516

Exercise | Multiply.

@ 467 x778 627 X358
th h t o th h t o
4.6 7 627
x 778 X 358

+ -

© 654x%x219 463 X627
654 4.6 3
X219 X 627




“0” means @, “t” means X, “h” means O, “th” means [J. | T26_516

-

284 x 376

[T Jo[n]t] of

\

.

284 x 376

Example| Multiply. Do not forget to write “ X ” and “+".

~N

[th | h| t] o

L)
6

1

O [OO¥ »

O [Uieo s x

N 0O¥NI (o N

[ O Ox~IM|
~

@D 128 x296

| | |th|h|t|o|

N

Exercise | Multiply. Do not forget to write “X” and “—+".

Good/!

@ 135%x372

[th [ h ] t] o

Ve

N




T26_516

Exercise | Multiply. Do not forget to write “ X” and “+".
@ 258 X345 @ 289 x647
L [ [w[nle[o] L [ [t[n]t][o]
4 N 4 N
\. / \_ /
® 358x%x275 ® 549x129
L [ [w[n]t][o] L[ [t[n] ] o
4 N 4 i
\_ \_




T26_516

Exercise | Multiply. Do not forget to write “X” and “+".

@ 374 %638 657 x714
L[ Jeln]e] o [T T [n]|t] o]
( ‘N r ‘\
© 473x854 942 x 154
( ‘\ ( ‘\




o, _n

0” means @, “t” means X, “h” means O, “th” means (1. | 126517

) )
] < Let’s calculate this.
' [162%x 30
Start multiplying
from the numbers
alignto “o”.
48+1=49
The multiplication at “0” is 162 X 8, so they are 8 X 2=16
at(), 8 X 6=48 at sets of 10) and 8 X 1=8 sets of 100).
4 N\

t

numbers align 1 6 2
to “t”. x 3\{ /’8

1239
a

Multiply the

We do not need to
write 0 because

adding 0 do not
change the answer.

The multiplication at “t” is 162 X 0. 0 multiplied by any number is O.

(4 J




o, _n

0” means @, “t” means X, “h” means O, “th” means (1. | 126517

\

Let’s go on the calculation.

162 X308

Multiply the th

numbers align

tO Uhll. €
\

X

Lo & o\‘:m -

We start writing at

“h” to align with
the place of 3.

The multiplication at “h” is 162 X 300, so we have 3 X 2=6 sets of

, 3X6=18 sets ofand 3 X 1=3sets of.

\ Y,




o, _n

0” means @, “t” means X, “h” means O, “th” means (1. | 126517

~

Let’s go on the calculation.

162 X308

th

Add the numbers

of top and bottom

to get the answer.

>
8
6

(o940 o~

1
8

00| O DAw =

_|_
£~ [~y

9896

—8x%x2

«—8Xx60 .

—8x100 If we write separately by places,
—0x2 we can find out the answer is
«—0x60

<0%100 made of

600 —300x2 16+480+800+0-+0+0+600

18000 «<300x60 +18000-30000.
+30000 «~300x 100

49896 T\




“0” means @, “t” means X, “h” means O, “th” means (0. | 12617
~

Example| Multiply.
162 x 308 284x376 @
th | h |t |o th| h [t |o
1162 1:6:2 Good!
X:3:0:8 = X:3:0:8
. =
‘leszxsl " 1 2 3 6‘{|162><8|
+ ‘1162><300 —+ Z’_ 8 6 <<|162><300|
ZI- 3 8 3 6‘:5//;&
Exercise | Multiply.
@ 189x302 @ 275%X409
th| h |t ]o th| h |t | o
1:8:9 275
X:3:0:i2 X:4:0:9

+ ! i189><300| + ! i275x400|




T26_517

Exercise | Multiply.
® 363 x502 @ 239X%X403
th| h th| h |t
3 2:3
X9 X:i4:0
® 652 x806 ® 384 x607
6 3: 8
X:8 X:6:0




o, _n

0” means @, “t” means X, “h” means O, “th” means .

T26_517

~N

Example| Multiply.
162 x 308 284x376 @
th| h | t th | h [t o
1:6:i2 1:6: 2 Good!
Xi3:0: 8 X:i3:0:8
SRS
<1296
+ L 8 6
ZI- 3 8 3 6‘:5//;&
Exercise | Multiply.
D 623 x206 ® 379x108
th | h |t th| h| t | o
6 2 379
X:2: 0 X:1:0:8




T26_517

Exercise | Multiply.

@ 423 x607 @ 534 x204
th| h t o th | h t o
4:2:3 534
Xi6:0:7 Xi2:0i4

+ +

® 685x%x402 ® 942 x 306
685 9:4:2
X:4:0:2 Xi3:0:6




T26_517

o, _n

0” means @, “t” means X, “h” means O, “th” means .
( N\

Example| Multiply. Do not forget to write “ X ” and “+”.
162 x 308 162 x 308
[ [wl[nlc]o] T e e
-
16 2
X308
wiw
1296
8 6 s
\ 9836
\ /
Exercise | Multiply. Do not forget to write “X” and “+". Good/
D 296 x 207 @ 327 x502
L [ ltw[nft o] L[ [+]n ]t [o]
e \ 4 )




T26_517

Exercise | Multiply. Do not forget to write “ X” and “+".

@ 354 x209 @ 673 X405

L [ lwlnft]o] L [ [tln]t]o]
e e
. N

6 257 X608 ® 219x504
s 4 )




T26_518

Multiply non-
zero numbers.

Write the same
numbers of 0 as
the numbers of
guestion have.

Let’s find an effective way of )
calculating numbers with some 0.
2400 X 20 We align the non-
zero numbers
2 4 O O vertically and
Iculate.
X ca
s
2 400
X 2: 0
f Z 2400 X 20 has two 0 and one 0, so we should
write three 0 at the answer.
J

Take care of
making these
two types of
mistakes.

30070x%x 30

3§O 070
X &O
9021:0000

The 0 between the numbers
are different from the 0 at

the bottom. The correct
answer is 902 100.

120 000 x 300

12:0000
X 3§OO
36i00000

Do not make mistakes in
writing how many numbers
after the 36. The correct
answer is 36 000 000.




T26_518

Example| Multiply.

‘ 2.400><20
2400 2400 Goodt
x 20 % _x 20 -
NN 4. 8000
Exercise | Multiply.
@ 2700x 30 ® 5400x80
2:7:0:0 95:4:0:0
X 3:0 X 8:0

@ 62000 x40

62000

x 40

@ 93000 X600

193 0/00]
>< 600




T26_518

Example| Multiply.

2400x 20 2400x 20
2400 oo
x 2 x 20

78000

Exercise | Multiply.

@® 3200x%x60 @ 4900x%x70

X X

® 2700x%x520 @ 8300x%x260

® 53000 x 80 ® 39000 x 500




